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General Instructions

1. Read all instructions carefully before answering the questions.

2. This question paper consists of Eight (8) questions in Five {5) pages.

3. Answer Question 01, which is compulsory and additional Five (5)
questions only. Question 01 carries 25 marks and questions 2 to 8 carries

fifteen (15) marks each.
4. Answer for each question should commence from a new page.
2. Answers should be in clear hand writing.

6. You should clearly show the steps involved in solving problems.
7. No marks are awarded for the mere answers without writing the

necessary steps.
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(Take g=10 ms?)

Compuisory Question

(1)

(i) Distinguish ‘displacement’ and ‘distance’. (02 ma'rks)
(i) A Vernier scale is designed in such a way that 19mm in main scale is divided
into 20 equal divisions in the Vernier scale. Calculate the least count of the
Vernier scale. (02 marks)

(iir) A fibre has circular cross-section with diameter 20 pm. Calculate the area of

cross-section of the fibre. (04 marks)
(iv) Write the following figures in standard form. (02 marks)
(i) 0.0000017 (i) 22400

(v) Determine the “gradient “ and the “intercept * of the straight line
3X +4Y=12 (02 marks)

(vi) A person borrows Rs 400,000 for 8% interest rates per annum froma bank.
How much money should he pay to settle the loan at the end of the year.
' {02 marks)

(vii) A factory has two working stations A and B.A has 10 machines and B has
20 machines.90 garments are distributed in two rooms proportional to
machines in particular room. Calculate the number of garments each room
gets. (02 marks)

(viiiy Define the following quantities, “work” and ‘energy” (04 marks)

(ix) Determine the gram molecular weight of Glucose Cs H1206
(C =12, 0=16, H=1) (02 marks)

(x) Calculate the concentration of sodium hydroxide (NaCl) solution, if

5 mols of sodium hydroxide is dissolved in 3 litres of solution. {03 marks)

t~2




BmD adm vessd (07) 538 uds swd (05) 88xnd; svwin

(2)

(a) som o ABDOmae monim.

(i) sy en@uEom ‘EeE s gBene %

(i) g e@orom “EE s mOn o6 ool glanas %"
(cmey 04)

(b) sdemdb® mEstmed (a) emndent wemnsd G&s! O Drosimn® Budnd morim.

(Cegs 04)

(c) sdemb® Bemerded ne e o@scon de Dids pRame an Eg Dods ondn

e opHe® phame eoamne o0 guic® Sudnd mizH. (cmen 07)
(3)

(a) ‘@83 s’ orlemsi 0 esfG® avlos! ndule ? (cmyeq 02)

(b) ceded® mE@nsined 'e8de smfde' BEde Dicosfm® wmdd mosim. (Emen 04)

(c) mem «DBed g (Denier) vy ¢B808s7, med 9000(m)on ehwsidnd. |
BHEE goma 150 23 O e 1500m Sen daride eans oz, (Cma 06)

(d) 9000 kgm?® wmxtde @B ocdo m0duem Bocd;m® 18 » sid awmme mOsD.
iz 9

(cmem 03)
(4)
(a) clmm BEDe BB w08m0 el 5 mSuim. (cmes 03)
(iy (81)>4 (i) (216/343) 173
(iii} (243) 0©
(b) & mduim. (cmes 06}
-3 23
(%} x [;‘B} < o]
(c) zon goicdn olmdaed Y 0@ oo om00sim. (cmyoy 06)
3x 277 =9Y




Answer any five (05) questions from following seven (07) questions

(2) (a). Define following terms.
(i} "% Moisture Content of a cotton sample “

(i) “% Moisture Regain of a cotton sample” (04 marks)

(b) Describe the importance of above terms in Textile industry. (04 marks)
(c) Describe how would you determine the “%moisture content’ and

“Yomoisture regain” of a given cotton fibre sample in a textile laboratory
(07 marks)

(3) (a) What do you understands by the term ‘linear density’ ((}2 marks}

(b) Discuss the importance of ‘linear density’ in Textile industry. (04 marks)

(c) Denier count is defined as the weight in grams of 9000m of yarn.
Calculate the mass of a 1500 m of a yarn which has The Denier count
150. (06 marks)

(d} Calculate the volume of a 18 kg of a metal block, which has the density
9000 kgm3 : : {03 marks)

(4) (a) Use the theory of indices to simplifying the following expressions.

(i) (81)% (i) (216/343) /3
(iii} (243) 08 (03 marks)

(b) Simplify the following

=143 /3
[ﬁJ x {8 -] x [1o]f (06 marks)
25 343

(c) Determine the value of 'y’ in the following equation.
27V =gV (06 marks)
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(a) som pBmcen Dwesim

(i) 3x +4y=9 (i) (3x+4) —(2x+3Y =(5x+7) (x+2)

2x -5y+17 =0 (Een 10)
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(iv) 100 (mm}y? {(v)4800 Day (vi) 10 gem
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mBedo Sund mdztnm, (@@@3 04)
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(9) (a) Solve the following equations

() 3x +4y= 9 (if) (3x+4)? —(2x+3)2 =(5x+7) (x+2)
2% -5y+17 =0

(10 marks)

(b) There are two consecutive odd numbers. If you add five times the larger

number to the small number the value is 100. Find the two numbers.

{05 marks)
(6) (a) What are the seven base units of the S.I unit system. {03 marks)
(b) What are the S.1 units of the following quantities. {02 marks)
(i) Momentum (i) Thermal energy
(i) Temperature gradient (iv) Time
(c) Convert following into S| Units. (06 marks)
{) 5 pim (ii) 72 Km/h (iii)"] 00 nm
(iv) 100 (mm)? (v)4800 Day ! (vi) 10 gem™™

(d) A Vernier caliper is used to measure small lengths. Describe the Vernier

caliper used in laboratory. (04 marks)

(7) (a) State the Newton's Laws of motion. (03 marks)

(b) What would be the relationship between the “Force “and the
momentum. (04 marks)

(c) A constant force acting on a body of mass 5 kg changes its velocity from
2ms'to 7 ms™ in 10 s.The direction of motion of the body remain
unchanged. Find the magnitude of the force. (08 marks)




(8)

(a) cDemom “gBon woslcame” vy “eBEm wmslgams” BlDDme mdnlm. (Emes 03)
(b) NaoH & g1©® aenm 53 BEeww mdsis (Na =23, 0=16, H=1). (Cmen 04)

(c) NaoH ;® 160 & oden 08 8 o gien 0d. phamed 8¢ wnlgme Hlas misim.
(Cmea 04)

(d) NaOH oBesens? 8 808 26 & worsfgens IM Om HCI codwmews? 88 E06 40 =5
o8 68, NaOH gd@med aunfcens nammae »osim, (emeg 04)
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{8) (a) Define “Percentage Concentration” and “Molar Concentration ‘ofa

solution. (03 marks)

(b) Determine the gram molecular weight of NaoH (Na = 23, 0=16, H=1).
(04 marks)

(c) 160 gram of NaoH is contained in 8 litres of solution. Determine the
molar concentration of NaoH solution. (04 marks)

(d) 25mi of NaoH is neutralized by 40ml of HCI solution of
concentration 3M. Determine the concentration of NaoH solution.
{04 marks)




